HAEBYRMSRE=FIVITHBRE-E(ZKRODN)

[=/RPHh]

BERE
No. HED S Ay BE wEAR ®E&EAA (L)
Ba/kg
1 Bk BE™M B533 H31.1.13 H31.2.21 97
2 Bk BE™ B533 R5.1.17 R5.2.20 67
3 Bt BE™ B521 R5.10.8 R5.12.5 200
4 Bk BET B524 R6.9.23 R6.11.14 340
5 B B B114 H23.12.18 H23.12.25 138
6 B AT B111 H23.12.20 H24.1.13 234
7 B Lt B221 H24.2.11 H24.2.24 155
8 B LU B021 H29.6.5 H29.7.28 340
9 B AT B023 H29.7.3 H29.9.6 180
10 B BT B012 H29.8.1 H29.9.26 140
11 B AT B012 H29.9.4 H29.10.27 210
12 B LU BO12 H30.4.2 H30.6.27 160
13 B BT B111 H30.6.5 H30.8.2 25
14 B AT B021 H30.6.8 H30.8.2 90
15 B AL B012 H30.6.8 H30.8.2 150
16 B BT B012 R5.6.9 R5.8.3 110
17 B AENTH E711 H26.1.15 H26.2.17 52
18 B AEIm E711 H26.1.19 H26.2.17 92
19 B AENTH E732 R5.9.13 R5.10.30 18
20 B AETH E732 R5.11.15 R5.12.27 29
21 B REH E711 H27.2.8 H27.3.13 85
22 Ye] =PE E613 H23.11.27 H23.12.9 437
23 2¥c3) a4t E601 H23.11.30 H23.12.9 209
24 2¥z3) P ) E611 H23.12.26 H24.1.13 573 X
25 =iE SEENT A073 H28.6.17 H28.7.12 21
26 =iE =EENT A272 H28.10.24 H28.12.21 34
27 =i REEWT A271 H30.2.5 H30.3.22 17
28 =iE =EENT D773 H30.7.12 H30.9.6 13
29 =iE SEENT A073 R2.6.23 R2.7.14 19
30 =i E=E £2L VNG A272 R3.6.30 R3.8.2 12
31 =g =EENT A272 R3.11.3 R3.12.14 79
32 EJ= TEENT A274 R4.6.4 R4.7.19 20
33 =g SEEWT A272 R4.9.4 R4.10.20 21
34 =g =EENT A272 R5.9.25 R5.10.30 5.3




HAEBYRMSRE=FIVITHBRE-E(ZKRODN)

(=R TA]
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No. HER R S Ay BE wEAR BEAA (L)
Ba/kg
35 RiE SEENT A171 R6.6.5 R6.7.23 24
36 EJ= E%AT A472 R3.8.22 R3.9.14 21
37 =g E%A™ A464 R3.10.9 R3.11.11 66
38 =iE EZAM A473 R3.12.10 R4.1.20 14
39| oz B 5 A472 R5.11.26 R5.1227  [(5isicn souson
40 =2 A= 2T A244 H25.1.23 H25.2.1 19
41 R GifE-= 1) A454 H25.2.9 H25.6.12 [t <sr0sice
42 ]iE FE R ET A454 H26.1.7 H26.2.17 oy 10
43 =iE A= 2T A253 R5.5.8 R5.6.29 26
44 RiE i3 1) A344 R5.10.12 R5.125  [B%27  estarce
45 oy =y 201 A344 R6.5.9 R6.6.25  [(Gsis1c cszcis700
46 &k FizE=3=:i) A344 R6.5.17 R6.6.25 (71500 cescisron
47 i icfe3=3:) A344 R6.6.5 R6.7.23  [REE7  esusice
48 &2 Fizpog= i) A344 R6.6.6 R6.7.23  [(§sisic sacsros
49 =i [EE=J= 1) A244 R6.6.6 R6.7.23 30
50 & FifE=g=:i) A244 R6.6.10 R6.7.23  [[55ismoe cororos
51 =iE [iEE—F= 4] A351 R6.6.22 R6.7.23 6.9
52 =iE A= 2T A253 R6.6.25 R6.7.23 9
53 =2 PR ET A352 R6.7.3 R6.8.29 10
54 2 i3 1) A344 R6.7.16 R6.8.29  [BH%Y  satarce
55 =iE A= 2T A244 R6.8.10 R6.10.8 6.2
56 =iE A= 2T A244 R6.9.2 R6.11.14 6.4
57 =iE T B314 H24.2.13 H24.2.24 118
58 =i Fa T CHT B113 H27.8.30 H28.3.22 19
59 =iE Y CHT B113 H27.10.27 H28.2.10 32
60 =iE Y T B312 H28.10.7 H28.12.21 190
61 =iE Fa T CHT B113 H29.9.2 H29.10.27 31
62 =iE Y CHT B113 H29.9.14 H29,10,27 240
63 =i ¥EEAET B114 H29.10.23 H29.11.16 71
64 =i T CHT B213 H30.7.8 H30.9.6 90
65 =iE M2 HT A152 H31.2.24 H31.3.25 9
66 o Hn;2ET A152 H31.2.24 H31.325  IBEETANTe
67 - 9= < LET A141 H31.2.2 H31.3.25 k;ﬁgzigg;zz:gsgz;
68 =iE = EHT A151 R6.6.28 R6.8.29 43
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69 RiE SIEEEBMET A06 1 H27.1.16 H27.2.20 14
70 [ T 4ERET D771 R3.10.3 R4.1.20  [eeriasonaiascs
71 EAeE T 4ERET D773 R5.7.2 R5.8.31 7.8
72 [ETf=g= R EHET D734 R4.9.2 R4.10.20 13
73 EeE FA=E D432 H23.11.23 H23.12.9 24.4
74 mARE RS D563 H24.1.17 H24.1.27 RIS
75 eI A= IEHET D652 H28.2.14 H28.3.25 6.6
76 mRE =31 D652 H28.2.14 H28.3.25  |[B4E7 ostzcs  *
77 [ SEHET D343 H28.5.22 H28.7.12 60
78 =i AR IEHT D343 H28.5.29 H28.7.12 22
79 =i A= IEHT D443 H28.6.9 H28.7.12 63
80 =i PR D641 H28.6.16 H28.7.12 35
81 =i AR IEHT D641 H28.6.20 H28.7.12 12
82 =i A= IiEHT D343 H28.6.19 H28.7.12 33
83 =i AR D532 H28.6.24 H28.7.12 16
84 | MR e D434 H28.7.11 H28.95  [[§sismcoarsrcs
85 eI AR IEHT D441 H28.7.10 H28.9.5 72
86 =i A= IEHT D441 H28.9.22 H28.10.21 37
87 =i =EHET D432 H28.10.19 H28.12.21 65
88 =i AR IEHT D432 H29.1.22 H29.2.10 35
89 =i A= IiEHT D554 H29.1.22 H29.2.10 11
920 =i [EEE3=1i) D443 H29.6.18 H29.7.28 34
o1 =i B3 4] D543 H30.1.7 H30.2.13 Fi%‘;i;““““
92 =5 [EE-3=1:) D652 H30.1.7 H30.2.13 I?%*;st“”“%
93 =i PR IEHT D554 H30.1.8 H30.2.13 14
94 £; B3 4] D563 H30.6.11 H30.8.2 F%‘;‘ég““”"s
95 =5 [EE-3=1:) D563 H30.6.6 H30.8.2 kﬁ%‘;ij”““"s
96 =i AR EHT D563 H30.6.13 H30.8.2 7.1
97 =i A= IEHET D643 H30.7.1 H30.9.6 9.2
98 =i 2R D662 H31.1.27 H31.3.25 7.0
99 =i AR IEHT D554 H31.4.27 R1.6.13 38
100 =5 [EE-3=1) D563 R1.5.2 R1.6.13 F%%‘;’i;“‘“S“CS
101 i [EE=3= 1) D563 R1.5.8 R1.6.13 I?%*;i’j”““"s
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102 FERE A 2T D563 R1.5.13 R1.6.13 6.2
103 | mMRE [EE3E 1) D554 R1.5.14 R1.6.13 i g sa(1sacs)
104 = k=11 D563 R1.5.15 R1.6.13 13
105 =iF A= IEHET D554 R1.5.18 R1.6.13 10
106 ®F [EE3=4i) D563 R1.5.18 R1.6.13 it 7 Sos(1aics)
107 =iE A= IEHET D563 R1.5.20 R1.6.13 9.6
108 =iF A= IEHT D554 R1.5.28 R1.6.13 22
109 =iE =EHET D443 R1.5.29 R1.7.19 350
110 =iE A= IEHT D563 R1.6.4 R1.7.19 7
111 2 B3 1) D563 R1.6.8 R1.7.19 1340 e
112 i RIS EHET D563 R1.6.8 R1.7.19 PO oA
113 =iE =EHET D563 R1.6.13 R1.7.19 14
14| mEZ RS D563 R1.6.14 R1.7.19 (ostsces e
15| ®EERZ R D563 R1.6.18 R1.7.19 ssce ey
116 [EIE3= PR IEHT D563 R1.6.20 R1.7.19 15
17| mEsE (=3 1) D554 R1.6.23 R1.9.2 PR, oA
18| mRE FAREET D554 R1.6.26 R1.9.2 PR oA
19| mERE =3 1) D563 R1.6.26 R1.9.2 PR oAl
120 [ETfg= e 2] D563 R1.6.26 R1.9.2 9
121 AR AR EHET D563 R1.6.27 R1.9.2 PR
122| mRE RS D563 R1.6.27 R1.9.2 atstces e
123 [FIE= =IEHT D661 R1.6.29 R1.9.2 7
124 ez EE=3= i) D554 R1.7.2 R1.9.2 (70134050 813700
125 [EIE3= PR IEHT D563 R1.7.10 R1.9.2 8
126 [ETE AR IEHT D563 R1.7.26 R1.9.2 88
127 eI AR IEHT D563 R1.7.26 R1.9.2 5
128| mRE FAREET D554 R1.7.28 R1.9.2 PR oA
129| mRE FAREET D563 R1.8.3 R1.10.1 (sotsca
130 | mERE AR EHET D563 R1.8.5 R1.10.1 (sotstcaed
131 [T e 4] D554 R1.8.12 R1.10.1 16
132 [Tz PR D563 R1.8.17 R1.10.1 5
133 | MR E-3= 1) D563 R1.8.18 R1.10.1 P A
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Ba/kg
134 MR AT D563 R3.5.9 R3.8.2 rstces e s
135 EeE [ L) D661 R3.11.27 R3.12.14 9.5
136 | mEsE -3 3] D661 R3.12.7 R4.1.20 (st s
137 eI AR IEHT D542 R4.1.2 R4.2.16 7
138 | mRE B3 1) D554 R3.12.29 R4.2.16 PO oA
139 | msE [ =3 1) D662 R4.2.19 R4.4.13 PPN bR
140 eI P EHET D661 R4.2.25 R4.4.13 (65134006 413766)
141 mELE R 2T D661 R4.2.25 R4.4.13 s - S
142 | meE R ) D562 R4.2.27 R4.4.13 (6 13m0 k13708
43| maz AT D562 R4.2.27 R4.4.13 (13RO 13708
144 | Rz 20T D562 R4.2.27 R4.4.13 (B A13HO 413709
145 | meE S Eg=:) D661 R4.3.1 R4.4.13 013406 13709
146 | mE&E A EET D741 R4.3.1 R4.4.13 s 13708
147 msE =3 3:] D741 R4.3.1 R4.4.13 PO o A
148 [ETE3= FEHET D652 R4.3.2 R4.4.13 (5 6134006 013766)
149| moz R AT D652 R4.3.3 R4.4.13 (6 X13m0 e 013708
150 | msE =3z 3] D661 R4.3.4 R4.4.13 s 370s
151 | ms% =3z 3] D661 R4.3.4 R4.4.13 s 3700
152 | ®ERE RS EHET D652 R4.3.9 R4.4.13 s e a1709
153 | ms% -3 3] D652 R4.3.13 R4.4.13 i 3709
154 | ERE 3= i) D641 R6.7.10 R6.8.29  [f35ismoe coaaoros
155 [EIE3= PR IEHT D551 R6.7.11 R6.8.29 12
156 [ETE AR IEHT D643 R6.8.7 R6.10.8 7.3
157 [ETE3= Rl A D322 H24.10.30 H24.10.20 190
158 [ET3= s {GEn) D333 H28.10.20 H28.12.21 28
159 [ET= FERR I+ D333 H28.10.28 H29.1.10 24
160 [EIf3= FERR I+ D333 H29.6.12 H29.7.28 28
161 [T FE s D333 H29.10.18 H29.11.16 24
162 [FIE3= FE s D333 H30.6.11 H30.8.2 23
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BIEEE
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Ba/kg
163 3= eI AT D333 H30.9.26 H30.11.26 19
164 e SIS AT D333 R1.9.25 R1.10.23 6
165 meE E R D333 R4.11.1 R4.12.21 <7.1(13i§g§1s705)
bty DY 8 GAERIBLEICHELTLMVM=-3D)
ZIEERE
No. HER e S Iy aBk/E HEARAAR ®RE&EARA (o9 L)
Ba/kg
1 = = sE ) D322 H23.10.2 H23.10.20 464 *

miEEEL M cse" csh A Et,

X1, H24.3.31 LIATEHE TCs 2% FE & 51 H500Bq/ kgF B A TLVNDED,

* [& . H24.41 LIPS SR CCs 2% BB 5T M 100Ba/kgZE B A TLVEED . B TUH24.3.31 LIRTAE TCs24% 38 & 51 HV100Bg/ kg%
BZTWW5L0D,

ROAERIBEILFH23FE10A3ETHAHH ., METH KUY ZNLIETIZHELRIRISONTD
RERELISHY . REOMRELT=,



